- 3. What is morals ? How it effects organisational
A o__Bmﬁm ? ;

-4,  How _3a_<acm_ Behaviour effects Em oam:_-

wmﬁ_osm_ cluster moﬁ_szmm ?

m._ - What mqm,ﬂ:m 3m,:=..mm~mﬁ_osm of stress ? Examine
the mechanism of occupational stress.

6. “Corporate Governance works when ethics drive
regulations. Discuss.

7. How Qomm, Maslow's theory of motivation differ

from Herzberg’s theory ? Describe the

_Bvo;mzom of ﬁromm 5mo_‘_mm

8. ; mxn_m_: the _mmamﬂm:_v mamamsom Smo_,_mm
critically.

9. Whatis o_d,mamm:o:,m_,o:m:mm ? Explain the

iy aﬂmoﬁoa‘wi_cmsoim o:m:nm.

10. Write short notes on any 2<o of the ﬁo__oé_:o
(a) @o:n wm:msoE
(b) Stress §m:mmm3m2
(c) Styles of Leadership
(d) Morals
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; ! \ Time : u.:o:nm
Full Marks : 80

Candidates are required to 9.<m their answers in
their own words as far as bsmoznmc\m

The m@:ﬁmm S Sm Smﬁﬁa SQBmNm full marks.

b;ms\mlas both the Groups as directed.

~ Group-A
. (Objective-type Questions)
1. Answer all questions of the following : 2x10 = 20
Amv m_m_a theories are called :
3 ‘_.B; theorists
(ii). rmmqs_:@ theorists -
(iii) Holistic theorists
(iv) None of these | ,
(b) Who is the founder of attribute analysis
technique of stimulating creativity ?
(i) Crawford . (i) Gordon

A,:c Khandwala (iv) None of these

- MF-2/2 (Turn over)



(c) Who has provided four m<mﬁm3m of _,\_m:m@m, . - (h) Who has said .oo_.BU_m,ﬁm_ freedom from

ment? ; , . , ~ stress is death’ ?

(i) Blake (i) Hersey S L eans (i) Alap Berkery
(i) Likert - (iv) Noneofthese . ‘ . . (i) H. Selye (i) zgm of these
(d) Who have *oasimﬁma ‘Life O<o_m ._.:moé of e ‘ () | Who has reported m_xnmzm:om,o: corporate

rmmamas.n ol
() Reddin (i) ﬂmma_m.q,
(ili) Hersey ~ (iv) None of these

ethics of Alacrity Foundations ?
(i) - Amol Karnad
(i) S.K. Chakarborty

e) Who is neo-classical theorists ? . o
© . : (iii) J. A. wm_mmoo.

() Fayol (i) Kahn

‘ L iv) None of these
(i) Worthy . (iv) None 9« these A :

() The a‘m<m_onam3 branch of MBO

() Who has stressed the @6% Acmsm<_ocﬁm_v of :
i developed by :

organisation ?
() Likert (. Sinoh 3 Drucker | (i) Odiome
(ii)) Woodward  (iv) None of these i s (v) None of these
(@) Which of the following is the vertical : e : m_.o:n B
| mxnm:m_o: of jobs ? | v | L (Long-answer ._.Sum ocomzosmv
(i) Job m_:_mqmmama e . i Answer any four questions of the following :
(ii) Job enrichment . e i . , .+ 15%4 =60
(iii). Job Bﬁmmo: , , _ ‘ 2. Discuss the Eoﬁoa influencing organisational
(iv) None of these B g § behaviour.
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